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for the questions

1. Answer the following questions (any ten) :
1x10=10
T APPTRS Ted fordl (R (e w=bl) -

(a) What is social indifference curve?

AN Hacers @< 2

(b) Define property rights.
i 6] SR F]e |

(c) What is monopoly power?
GITHHA IR *M& 2
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(d) What is product differentiation? () Define cartels.
e Resmee 3feca [ 3om 2 e kYT LR |
fe) Define saddle point. (m) What is exclusivity?
e R e e | afwad e o @2
()  What is payoff matrix? (n) Write one difference between private

goods and public goods.
Wmmwwﬁmmaﬁ?ﬁw

(g9 In what type of market we get o
asymmetric information?

(P R TS SRS Joal (FRCT (ol

sifone (s 2

(o) State Bertrand’s model of oligopoly.

2 ARG FERCEOR T DG TS 1|
(h) Give an example of positive ext i
Bl exterality, 2. Answer the following questions (any five) :
qfb N AREOR SrrEae i | S5t akive
. . Wﬂfjﬁ%i%@%‘ﬂ (ﬁcu: ) :
(i) What is first-degree price
discrimination? (@) Define Pareto efficiency.
R T 71 FResw g R qwm o Sbiszmprsil]
() What is the basic difference between (b) Write two features of public goods.
oligopoly and duopoly? Freredl TS o1 CAfE fert |
THRNGOR I IF @R IWRG oo i i
e (c) How does concentration ratio determine
degree of monopoly power?
() What is shutdown point? @B TS <A o e T
v g 32 @ e 932
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(d) What is ‘two-person zero-sum’ game?
T2 - *-EE’ ¥ 0

() What is meant by signaling in
a market?

IHRF IS Jeice & o 2

() Distinguish between production
efficiency and exchange efficiency.
T el W [N e Wwe A1
fora |

(g9 What are minimax and maximin
strategies?
R’ o ‘G’ @ (2

(h) What is third-degree price
discrimination?

o TR 71 fRrenead &2

Answer the following questions (any four) :

5x4=20

Ged RS ed T (R e wifion) -

(a) Explain how efficiency can be achieved

in exchange through Edgeworth box
diagram.

@SR IR, B a1 R e @eRe
I =11, W1 0

( Continued )

(b)

(c)

(d)

(e)

s i e e ——

. et s

(S)

Briefly explain the causes of market
failure.

TN REeToq FEFRR 4L T 4 |
Explain the concept of excess capacity
under monopolistic competition.
IR IWRS  SRAMT HeRE FIoK
YIICOT T F41 |

When is price discrimination possible

and profitable? Explain.

™ Reenigre @fom I HE ACETE W 2
[T AT

Explain the concept of Prisoner’s
Dilemma.

FRRA = GRG0 41 |

() Distinguish between perceived and
proportionate demand with the help
of a diagram. :
b a@l WRREFe WF AP S
YIRETTCHT T B |

(g) Explain how the growth of monopoly
power can lead to market failure.
B TR BB @ IER RFeer
B F¢q, W FA
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(h) Do you think monopolist always

c€arns  supernormal profit?  Justify
your answer.

GO ITRE Rerez WE SFERe |
SIS FCICA ? (O TeT IS g |

4. Answer the following questions (any four) :

O 2PIYRY ©es ot (R e wifd)

10x4=40

(@) What is production-possibility frontier

(b)

(c)

(PPF)? How can resources be allocated
efficiently through PPF? State Pareto’s
third condition for optimality. 2+6+2=10

Sesws SFSIfder 4 (1, . %) fF2 Tesme
MRS @R e T Reqd @

TEOR FRT AR iegh’T e 4R
TORI BELH! for4 |

State and explain Coase’s theorem.

What are the limitations of Coase’s
theorem?

I OGO AT WFE QYT ] | G2 Y{AF

AR & 2

How can monopoly power be controlled
and regulated? Explain.

ﬁ@ﬂﬁhT@ﬁﬁa*ﬁFcnzmmaﬁwaqEW$eﬁﬁ%s
R~k 2 T4 794 |

10
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(d) Explain how prices and output ‘ca:n
be determined under monopolistic
competition in the short run and
long run.

GFEFR ITES %E SF TLAMH ZFICETS I
AT CRCLe el i< A, T e |

(e) Explain diagrammatically Cournot’s
model of duopoly equilibrium.

'35 ST B SRR SHfCH! 0 |

() Write two applications of game theo.ry.
Explain the method of solving
a two-person zero-sum game. What are
the limitations of game theory?

o ot B | b R R
A (4F (T e R A,
Wycﬂ‘&{wm@@”wl

(g9 What is information asymmetry? How
does information asymmetry affect
business? Give two examples of
markets where information asymmetry
prevails.

wpEfiel 57 AR SPEREeR THEC©
2;2: oao@ CFR? I PR TS
@R gl fra |

10

10

2+6+2=10

2+6+2=10
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(h) Explain why there is no supply curve
under monopoly. Explain the case
of dumping in international price
discrimination. 5+5=10
G IGES @A (@2 [ AR TR,
JRA | TEHeF JwRe W Reswiea
CHTO TI/8F YIFETCHT 771 7T |

() Describe how a monopolist will
discriminate the price in the markets
with different elasticities of demand
and attain equilibrium. 10

w01 fom vifdne RefSwreieer <o qom@e Rrswet
GIOHI @RS (FEATT ST e =,
AT 7 |

() Compare and contrast Bertrand
and Stackelberg’s equilibrium under
oligopoly. 10

TAREON IWRS ARSI (BT
SR Goil I A1 (RY&T |

* %k
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